	2024-11-26 LECTURE 26 MA 3F1
(1) FRONT of (1.26	
RECAU X CW,	$C \in X$, $X - C = e_{\perp}^{2}$ IS A 2-CELL L; $C \longrightarrow X$.
PICTURE	NOTE e' JS A COPY of
	e_{α}^{2} } $\frac{1}{2} \times \frac{1}{2} \times \frac{1}{2}$
	SFT
(x.	$E = \{\chi \in \mathbb{R}^2 \mid \frac{3}{4} < \chi < 1\}$
6	$A = C H E / \varphi_{x}$
	$B = e_{d_1}^2$, SD AnB=E.
NOTE E= S'x(0,1). PICK X, E E. HOTE J, (A, R,) = T, (C, K)
BECAUSE A DEF. F	RETRACTS TO C. [AND CHANGE of BASEPT]
PICTURE	NOTE $\pi_1(B) = \pi_1(e_{qr}^2) \leq 1$.
· · · · · · · · · · · · · · · · · · ·	AND $\pi_i(A \wedge B_i \pi_i) \cong \mathbb{Z}$.
	LET WIETI(AAB,X.)
	BE THE GENERATOR.
	NOTE W TO THE TWAKE
of 8= [g+ 6King]	UNDER CHANGE of BASEPOINT.
of T= [g+ PK3,*] FINALLY APPLY S	UNDER CHANGE of BASEPOINT. by $K: \pi_1(X, x_1) \cong \pi_1(A, x_1) * \pi_1(B, x_1)$
of 8= [g+ (K; * g] FANALLY APPLY S BUT T. (Bx)=1	UNDER CHANGE of BASEPOINT. SYK: $\pi_1(X, x,) \cong \pi_1(A, x) * \pi_1(B, x)$ AND $N = <<(io_2), (w_1) >> N.$
of 8= [g+16154 = g] FINALLY APPLY S BUT T. (B,x.)=1 WE HAVE: 50	UNDER CHANGE of BASEPOINT. SYK: $\pi_1(X, x,) \cong \pi_1(A, x) * \pi_1(B, x)$ AND $N = \langle \langle (iAB)_{k}(w_i) \rangle \rangle$. $k_c = k_0 = i$ SO $(k_c)_{c} = (k_c)_{c} = (ic)_{c}$
of T= [g+ leks', * j] FINALLY APPLY S BUT T, (B, x,)=1 WE HAVE: 50 C L BI	UNDER CHANGE of BASEPOINT. SYK: $\pi_1(X, x_i) \cong \pi_1(A, x_i) * \pi_1(B, x_i)$ AND $N = \langle \langle (i_{AB})_{*}(w_i) \rangle \rangle$. $i_c = i_A \circ j_C$ SO $(i_c)_{*} = (i_A)_{*} \circ (j_c)_{*}$ IT (i) IS ISOMORPHISM. [DETAILS
of $T = [g + P(F_{d}^{'} + \tilde{g}]$ FINALLY APPLY S BUT T, $(F_{d} \times_{1}) = 1$ WE HAVE: SO C _ L_C BL A	UNDER CHANGE of BASEPOINT. SYK: $\pi_1(X, x,) \cong \pi_1(A, K) * \pi_1(B, X)$ AND $N = \langle \langle (iAE)_{k}(W_{i}) \rangle \rangle$. $i_c = i_A \circ j_c$ SD $(i_c)_{k} = (i_A)_{k} \circ (j_c)_{k}$ $i_T (j_e)_{k}$ IS ISOMORPHISM. [DETAILS BONT CHANGE of BASEPTT. SINCE
of $T = [g + P[S_d] + \tilde{g}]$ FINALLY APPLY S BUT T. (B, x.) = 1 WE HAVE: SO C L_c BL \tilde{L} \tilde{J} \tilde{L} \tilde{L} \tilde{J} \tilde{L} \tilde{L} \tilde{J} \tilde{L}	UNDER CHANGE of BASEPOINT. SYK: $\pi_1(X, x,) \cong \pi_1(A, x) * \pi_1(B, x)$ AND $N = <<(iAB)_{*}(w_1) >>$. $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ j_c$ SO $(i_c)_{*} = (i_A)_{*} \circ (i_c)_{*}$ $i_c = i_A \circ (i_A)_{*} \circ (i_A)_{*}$ $i_c = i_A \circ (i_A)_{*} \circ (i_A)_{*} \circ (i_A)_{*}$ $i_c = i_A \circ (i_A)_{*} \circ (i_A)_{*} \circ (i_A)_{*} \circ (i_A)_{*}$ $i_c = i_A \circ (i_A)_{*} \circ$

PROOF of D HERE 173, SO THE "SHELL" E = { x = R" | 34 - 1x | -1 } HAS R.(E) = 1 SO T, (ANB) = 1 SO H IS TRIVEAL SUBGROUP. 30 (1,), ALSO INJECTIVE, SO ISOMORPHISM. B (B) O LET t: X" ---- X BE THE INCLUSION. WTS ty is isomorphism on T. CASE 1: X IS FINITE: [HAS FINIELY MANY CELLS] THEN APPLY (D) AND INDUCTION. CASE 2: X IS INFINITE. t* SURJECTIVE : FIX [8] E T, (X, x). SO J: I→X AND DO)= T(1)= x. SINCE I COMPACT, X(I) IS COMPACT. BY PROPAD THERE IS SOME FINITE SUBCOMPLEX CCX WITH T(I) (C. WE HAVE A DIAGRAM of SPACES: ALL MAPS ARE INCLUSIONS. $C^{(2)} \xrightarrow{S} C$ NOTE ROE CE, C, X", X. 7] $BY = \bigoplus_{i} S_{i+1} : \pi_i(C^{(2)}, \kappa_i) \to \pi_i(C, \kappa_i)$ IS AN ISOM. $X^{(2)} \xrightarrow{\tau} X^{6}$ 24 [Y] = [Y]. LET [V'] = 5, ([T]). BY CONSTRUCTION : SO &'E LOOPS (C12), X.) AND &'= & VIA HOMOTOPY IN C. 9* 5 [1'] = [8] WE HAVE FINALY, SINCE ty Po[1'] = [1] 50 ty SVRJECTS.

to INJECTIVE : SUPPOSE [8] = T, (X("), w) AND
$t_{*}[X] = [e] \in \pi, (X, k).$ So $72 = IN \times VIA$
HOMOTOPY F: IXI $\rightarrow X$ $\eta = \chi_{0}$
NOTE ITI COMPACT, SO F(ITI) IS COMPACT. SO, BY
PROPAD THERE IS A FINITE SUBCOMPLEX CCX
WITH FULL)CC. (SO DU)CC AS WELL !]. AGAIN
(12) 5 HAVE DIAGRAM of SPACES.
$=$ 80 [Y] = [e] IN $\pi_1(C)$.
P AGAIN TAKE [6']=(5) [6].
t SO $[t'] = [e] IN \pi_1(C^{(2)})$.
XIM - X F THUS P*[0']=[0] IS TRIVIAL
IN T. (X ⁽²⁾), AS DESTRED.
PROP 1.26
· · · · · · · · · · · · · · · · · · ·
3 THE SURFACE 4 GENUS TWO
DEE: A SURFACE IS A SECOND COUNTABLE, HAUSDORFF
SPACE F' WHERE EVERY XEF' HAS A HEIGH
UCF ² which is homeo. To R ² .
EXAMPLES: \mathbb{R}^2 , S^2 , \mathbb{T}^2 , $\mathbb{R}\mathbb{P}^2$
$\int S^2$

WE CAN MAKE NEW SURFACES FROM OLD BY CONNECT SUM: SUPPOSE F,G SURFACES. PICK DISKS DCF, ECG. SET DO=D-DD, EO=E-DE. FIX HOMED $Q: D \rightarrow DE$ DEFINE $F + G = (F - D^0) + (G - E^0)$ 2~(1) PICTURE



